CkiacTd MaTeMaTHYHY MOJIeJIb 3aauli,
aBoicToi 10 xanoi 3agaui JIII

Bapianr 1.
-3X;+2X%,<12,
—5X;+X,< 3,
X1 +3X, <40,
X1 +X, <7,
5X; +3X,<68,
2 Xy +X, <18,
1.4. 15. | 5x;—-2X,<38,
[ X1 —X, <28,
4X,+3X,235,
X1 20, X, 20,
X; 20, X, 20,
X1 + 2X, — max.
X1 +4X, > max.
Bapiant 2.
—X;+2X,<14,
—2X1+ X,<4,
X1 +4 X, <40,
X1 +2X,<13,
2X+ X, <24,
3X;+2X,<19,
3.1. 3.2. |5X%X;—3X%,<27,
X1— X,<3,
7 X1 +4X%,246,
X; 20, X, >0,
X; 20, X, 20,
X1 + X5 — Max.
O9X1 + X5 —> Mmax.
BapianT 3.
—2X1+ X,<5,
66X+ X,<2,
X1 +2 X, <30,
X1+ X <7,
3X1+ X,<30,
7 X1 +4X,<50,
3.1. 3.2. Xj— Xo< 2,
X|—2X,< 2,
9X;+3X%X, 226,
X1 20, X, 20,
X; 20, X, 20,
X1 + 3X, = max.
X1 +3X, = Max.
Bapianr 4.
—-3X+ X, <2,
X+ X,<3,
X{+ X,<18,
—2X1+ X, <8,
7 X1 +2X,<66,
2X1+ X,<16, .
3.1. 3.2. | 3X—-4x,<4,
X —3X%,< 1,
3X;+ X,214,
X1 20, X, 20,
X; 20, X, 20,

2%y + 3X, = max.
2X; +4X, - max.



3.1.

6.4.

3.1.

3.1.

BapianT 5.

—2X1+ X,<3,
—X; +4X,<19,
4%, — X,<14,
2X1—3X,< 2,
X; 20, X, 20,

2X1 + X5 — Max.

Bapianr 6.

(X + X,< 4,
X1 +4 X, <21,
Xi+ X,<9,

3X;—4X,56,
X; 20, X, >0,

2X1 + 3X, = max.

Bapianrt 7.

—4X+ X,<5,
X1 +3X, <28,
2X1+ X,<21,
X1— X< 3,
X; 20, X, 20,

X; + X, — Max.
Bapianr 8.

-3X1+ X,< 2,
X1+ X, <4,
— X1 +4 X, <22,
[ X =5X, <7,
X; 20, X, >0,

3%, —4X, — min.

3.2.

6.5.

3.2.

3.2.

-6 X, +5X%, <19,
X1 +3X%X, <39,
X1 — X, <53,
X1 —4x,=2 4,
Xj+ X,26,
X; 20, X, >0,

6X; + X, &> max.

X1+ X, <6,
X1 +5X, <48,
3 X, +2X,<40,
4 X, -5X,<15,
3Xy+2X%,217,
X1 20, X, >0,

2X1 +3Xy = Max.

X1+ X, <8,
X1 +3 X, <40,
4%+ X,<50,
3X;—4X,29,
X1+ X,210,
X; 20, X, 20,

X1 + 17X, = max.

—Xi+ X< 7,
— X, +3X,<29,
X{+ X,<19,
8X,—5X,<22,
2X;+ X,210,
X; 20, X, >0,

3X; +4X, = max.




3.1.

3.1.

3.1.

3.1.

—-4Xx,+ X,<1,
X1 +6 X, <31,
X1+ X, <11,
X1 —2X,< 5,

X1 20, X, 20,

X1 +4X, — max.

-2X1+ X,<6,

4X,+5X,<44,
X|— X,< 2,
X1 —2X,< 1,
X; 20, X, >0,

3X; + 2X, — max.

—-2X1+ X, <2,
X, < 3,
3X + X, <11,
2X — X, <4,

X1 20, X, 20,

— X, +

2X1 + 3Xy — Max.

—-4X+ X,<1,
X1+ X, <4,
4x,+3X,<26,

X1— X< 3,
X; 20, X, >0,

3X; + X, = max.

BapianTt 9.

Bapianr 10.

Bapianr 11.

Bapianr 12.

3.2.

3.2.

3.2.

3.2.

X1+ X, <4,
—X;+5X%,<36,
3X1+2X,<45,
Xj— X, <5,
X1 +2X, 211,
X1 20, X, 20,

X1 +3X, = mMax.

(—2x,+3X,<22,

3X;+5X,<62,
4, — X529,
X1 —4X,2 4,
2X1+ X,210,
X1 20, X, 20,

3X; +2X, — max.

—4X;+ X, <7,

X1 +2X, <22,
2X1+ X, <20,
5X; —2X,<23,
2X1+ X, 211,
X; 20, X, >0,

2X1 +3X, = max.

—-4Xx+ X, 4,
—X;+3X%X,<21,
X1 +2X, <24,
SX;+2X,<56,
X1 +8X,2>34,

| X 20, X, 20,

3X1 + Xy = Max.



3.1.

3.1.

3.1.

1.4.

BapianT 13.

— Xy +X, <4,
X1 +X,<6,
2X;+X,<8,
X; —X, <1,
X1 20, X, 20,

3X1 + 2X, = max.

BapianT 14.

—4X1+ X, <6,
X1 +3X, <31,
3X;+ X, <29,
2X1— X,<16,
X; 20, X, >0,

2% + 3X, = max.

Bapianr 15.

-3X;+ X,<5,
X1 +9X, <41,
4x,+ X, <31,
3X;— X,<18,
X1 20, X, 20,

4X; + 3X, — max.

BapianT 16.

—5X;+X,< 3,
Xy +X, <7,
2 X1 +X5 <13,
7 Xq—X, <28,
X; 20, X, >0,

X1 + 2X, — max.

BapianT 17.

.
3.2.

3.2.

]
3.2.

1.5.

—4x,+3X%X,<14,
X{+ X,<14,
4X 4+ X,<35,
X1 —4X,2 4,
4X,+3X%X,222,
| X120, x; 20,

3X; +2X, > max.

-4 X, +3X%X,<23,
X1 +3X, <43,
95Xy +2X%X,<36,
3X;—2X,<24,
2X1+3X,229,
X; 20, X, =20,

2Xq + 3X, = max.

X1+ X, <7,
X1 +5 X, <53,
3X;+ Xy <33,
2X — X,<12,
Xi+ X229,
X; 20, X, 20,

4x; +3X, > max.

—-3X,+2X,<12,
X1 +3X, <40,
5X; +3X,<68,
S5X;—2X, <38,
4%, +3X%,235,
X1 20, X, 20,

X1 +4X, > max.




3.1.

3.1.

3.1.

3.1.

(2%, + X,< 4,
X1 +2X,<13,
3X;+2X,<19,
X1— X,<3,

X; 20, X, >0,

X; + X, — max.
BapianT 18.

66X+ X,<2,
—X;+ X, <7,
7 X1 +4X,<50,

X1 —2X,< 2,
X; 20, X, >0,

X1 + 3X, = max.

BapianT 19.

X1+ X,<3,
—2X+ X,<8,
2X1+ X,<16,

X1 —3X%X,< 1,
X; 20, X, 20,

2X1 + 3X, = max.

BapianT 20.

—2X+ X,<3,
— X1 +4 X, <19,
4x,— X,<14,
2X;—3X%X,< 2,

X; 20, X, >0,

2Xq1 + X, — max.

Bapianrt 21.

3.2.

3.2.

3.2.

3.2.

—X;+2X,<14,

X1 +4 X, <40,
2X1+ X, <24,
5SX;—3X,<27,
7 X, +4X,246,
X; 20, x, 20,

9X1 + Xy —> Mmax.

—2X1+ X,<5,
X1+2X, <30,
3X;+ X, <30,
X1— X, <2,
S5X;+3X,2>26,
X; 20, X, 20,

X1 +3X; = mMax.

—3X+ X, <2,

X1+ X,<18,
7 Xy +2X,<66,
3X;—4x%x,< 4,
3X1+ X,214,
X; =20, X, 20,

2X1 +4X, = max.

(-6 x, +5X%,<19,
X1 +3 X, <39,
X1 — X, <53,
X1 —4X,2 4,
Xj+ X226,

X1 20, X, 20,

6X; + X, &> max.



6.4.

3.1.

3.1.

3.1.

(X + X,< 4,
X1 +4 X, <21,
Xi+ X,<9,

3X;—4X,56,
X; 20, X, >0,

2X1 + 3X, = max.

BapianT 22.

—4X1+ X, <5,
X1 +3X, <28,
2X1+ X,<21,
X1— X< 3,
X; 20, X, >0,

X; + X, —> Max.

BapianT 23.

—-3X1+ X, <2,
X1+ X, <4,
— X1 +4 X, <22,
[ X1 =9X, <7,

X1 =20, X, 20,

3%, —4X, > min.

Bapianrt 24.

—-4x;+ X,<1,
X1 +6 X, <31,
X;+ X, <11,
X1 —2X,< 5,

X1 20, X, 20,

X +4X, = max.

BapianT 25.

X1+ X, <6,
X1 +5X, <48,
3X;+2X,<40,
6.5. [4X;-5X%,<15,
3X+2X%,217,
X; 20, X, 20,

2X1 +3Xy = Max.

(—X+ X,< 8,
X1 +3X, <40,
4X,+ X,<50,
3.2. |3X—-4X%X,<9,
X1+ X,210,
X1 20, X, 20,

X1 + 17X, = max.

—X1+ X, <7,
—X; +3X%X, <29,
X1+ X,<19,
3.2. 8%, ~5x,<22,
2X1+ X210,
X; 20, X, 20,

3%, +4X, - max.

X1+ X,< 4,
—X;+5X,<36,
3X;+2X,<45,
3.2. | X— X395,
X1 +2X, 211,
X; 20, X, 20,

X1 +3X, = max.



3.1.

3.1.

3.1.

3.1.

—-2X1+ X,<6,
4X,+5X,<44,
X|— X< 2,
X1 —2X, <1,
X1 20, X, >0,

3X; + 2X, = max.

—2X1+ X,£2,
X1+ X, <3,
3X+ X, <11,
2X1— X,<4,
X1 20, X, >0,

2X1 + 3X, = max.

44X+ X,<1,
X1+ X< 4,
4X,+3X%X,<26,
X1— X< 3,
X1 20, X, 20,

3X;1 + X5 = max.

— X1 +X, <4,
X1 +X, <6,
2X;+X,<8,
X; —X5 <1,
X1 20, X, >0,

3X; + 2X, = max.

BapianT 26.

BapianT 27.

Bapianrt 28.

3.2.

3.2.

3.2.

3.2.

—2X1+3X,<22,
3X1+5X%X, <62,
4x,— X,<29,
X1 —4X,2 4,
2X1+ X,210,
X1 20, X, 20,

3X;1 +2X, — max.

—-4X1+ X< 7,
X1 +2X,<22,
2X1+ X,<20,
SX;—2X, <23,
2X1+ X, 211,
X1 20, X, 20,

2X1 +3Xy — max.

—4X1+ X, <4,
—X;+3X%X,<21,
X1 +2X,<24,
5X;+2X,<56,
X1 +8X,2>34,
X; 20, X, 20,

3X; + X, =& max.

-4 X, +3X,<14,
X;+ X,<14,
4x,+ X,<35,
X1 —4X,>2 4,
4X,+3X%X,222,
X; 20, X, 20,

3X; +2X, — max.




3.1.

3.1.

BapianT 29.

—-4X+ X,<6,
X1 +3X, <31,
3X;+ X, <29,
2X1— X,<16,
X1 20, X, 20,

2%y + 3X, = max.

BapianT 30.

-3X;+ X,<5,
X1 +5X, <41,
4x+ X,<31,
3X;— X,<18,
X; 20, X, >0,

4X; + 3X, — max.

3.2.

3.2.

—4X,+3X%X,<23,
X1 +3X, <43,
5X1+2X,<36,
3X;—2X,<24,
2X;+3X%X,229,
X; 20, X, 20,

2X1 +3X, = max.

—X1+ X, <7,
X1 +95X, <53,
3X;+ Xy <33,
2X;— X,<12,
X1+ X229,
X; 20, X, =20,

4X%, +3X, - max.




